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General Instructions :

1. The question paper consists of four Sections - A, B, C and D. Section - A consists of 8
questions of 1 mark each; Section-B consists of 6 questions of 2 marks each;
Section-C consists of 10 questions of 3 marks each and Section-D consists of 10 questions
of 4 marks each. Question No. 1 to 8 are Multiple Choice Questions where you are to
select only one correct option out of four given options.

2. All questions are compulsory.

3. In questions on construction, the drawing should be neat and exactly as per the given
measurements. Use ruler and compass only.

4. There is no overall choice. However, internal choices have been given in some questions.
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Section - 'A' (@e-‘31")
Question number 1 to 8 carry 1 mark each.
T @M 1 W 8 d% YAF Y | 3k H1 B
1. How many natural numbers lie between 252 and 262? 1
25% 3N 26* 1 &= 3 STel Yiepideh SEAel o1 &l © -
(@) 51 (b) 52 (c) 50 (d) 49
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2. If M.P. =% 650 and Discount = 10% then S.P. is :-

Iz siferd god 2650 3R B2 10% ¢ d9 faha 99 € -
(a) %640 (b) %550 (© %560 (d) %585

3. Kamal bought a wrist watch for ¥ 2200 and sold it for ¥ 1980. His loss

percent is :

FUA 7 Teh el SE 22200 H @& 3R ST 21980 § &= T s@ent eif
gl € -

(@ 10% (b) 20% © 11% (d) 15%

4. Which of the following identity is correct?
frefafed & o w8 O gdafgs @t 22

(a) (x+a) (x+b) = x* - (a+b)x + ab (b) (x=a) (x+b) = X* + (a+b)x + ab
(c) (xa) (x-b) = X - (a+b)x — ab (d) (+a) (x+b) = X2 + (a+b)x + ab

If «1=70° then the measure of /2 is :
f& T SmEfa F (Im § qO 0T WSS @ 7 i
g A a=70° @ 22 HHY T -

= 1T
@ 70° (b) 110° //12
(c) 90° (d 120°

6. If the x - Co-ordinate of a point is zero, it lies on

5. In given figure, ¢||lm and nis a transversal. / n

'y

(a) x- axis (b) y-axis

(c) aline passing through the origin (d) data insufficient
I Tk foag 1 s F1eemw 3= &1 @1, ¥ fea B -

(a) x-3AT W (b) y-38g W

() o fog 9 ToRdt g3 T @ W (d) AW SAehel

7. Distance of point (1, 2) from y - axis is :-
(@) 2 units (b) -1 units () 3 units (d) 1 units

fag (1, 2) 1 SR 3187 (y - a191) YA T -
(@) 2 SIS (b) -1 3T () 3 ThE (d) 1 3%
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10.

11.

12.

13.

Among the quantity of fruits sold in one day, sale of Mangoes is 50%. The
angle of sector representing Mangoes in the pie-chart is

e & o T orel el | S w1 Hiawid 50% 21 ga Te W ot i gwi o

@S HT B0 T
(@) 50° (b) 90° (c) 360° (d) 180°

Section - 'B' (Ws-‘q’)

Question number 9 to 14 carry 2 marks each.

Y99 G&A 9 § 14 dF Yh YT B 2 31F B

Find the square root of 11025 by prime factorisation method.

T TUHEE fafy 9 11025 1 FHa 9 hifaq|

OR ( 3T9dT)

\243
Find the value of /867’ using prime factorisation method

T AETE fafty 9 %gi %1 MA@ it

Find the cube root of —-3375.
—3375 kT ¥ Ald hITSTq |

Evaluate (4 J1d hifSIT) : ¥100 x¥/270

In the given figures, if t|m|n , - A > |
find the measure of «x and zy . % e
. < » 10
& T pfg H, A Limin B @ BN\ 35
4 Y "
/x SR 2y WA @ ST « S > N

Plot the points (0, 1), (2, 2) and (4, 3) on the graph. Join these points in
pairs. Do they all lie on the line passing through the origin?

few gu faget (0, 1), (2, 2) 3 (4, 3) =i 3@ W Afha Hifey) 7 famgat
F TUFAR e =0 3 g ua fas 9 TeRA arelt @ W fem @2
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14.

15.

16.

17.

18.

19.

A bag contains 5 red balls, 8 white balls, 4 green balls and 7 black balls. If
one ball is drawn at random, find the probability that it is :-

(i) black ball (ii) red ball

(iii) not a green ball

T It | 5 o 7%, 8 THS 7, 4 T 7 IR 7 Fredt 1 T A Tk g sAfaia
T O fTehrett S o WifErerdr Jd shifse fo o

(i) ohTell 7% & (ii) & T B

(iii)7g < &8 A 2

Section - 'C' (@e-T')
Question number 15 to 24 carry 3 marks each.

9T & 15 9 24 d% YF T B 3 3TF B

Find the least number of six digits which is a perfect square. Also find the
square root of this number.

T: R H T7 B W S T A HIWC ATk TH YUl Gt BN W TR H
Fiiga ot T il

Find the square root of 147.1369.
147.1369 1 SFHel 1 hIfSQ|

What is the smallest number by which 3087 may be multiplied so that the
product is a perfect cube?

I8 B ¥ BIE W& 1 B TSHE 3087 1 0N T W IO Toh oI &7 949
S|

Evaluate (M JMA HIfSQ) :- 3/(-1728)x(-2197)

A car travels 60 Km in 1 hr 30 min. How long will it take to cover a

distance of 100 Km at the same speed?
Tk HR 1 5921 3R 30 e & 60 fhamie #1 < @ w¢dt 21 S =1 o <o
R 100 forctier &1 T @ T H 39 fohaT 977 wmm?
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20.

21.

22.

OR ( 379dT)

Ramesh can finish his work in 25 days, working 8 hours a day. If he wants
to finish the same work in 20 days, how many hours should he work in a
day?

WY TF 7 A 8 W02 HMH FH R AT HM 25 T § G0 F Teohal 21 AR T
St ™ 1 20 f& o G A = @ @ 39 1 & A fope 502 S e =g

Ankit sold two jeans for ¥ 990 each. On one he gains 10% and on the other

he loses 10%. Find his gain or loss percent in the whole transaction.

siferd = 2990 9fd ST = Wl 9 7 9 o=l Toh W IH 10% A9 qe1 T W
10% T g8l R -39 W 3 foha wfaerd onw a1 31 82

Factorise (V@S &IST) : p? - pq - 6¢°

In the given figure, ZA= 75°

and cE|AB . If zEcD = 40°, find A i
the other two angles of the 75 &
triangle ABC.

& g empfa W, sa=75° 3R cEyaB @l

€ secp = 40° ® @ IS ABC & 31 a0

THI HI0T T TH A RIS B C D

OR ( 379dT)

In the given figure 1ym and nis a

transversal. If 2£1=(5x+25) and /4”
/2 =(15x - 35)0 ,then find the value

Yy—

of x and hence find the measure of £3.
frugu fom & tim 2 3R n wh !
ffe Y@ 21 aff a=(6x+25)0 3R 25/

£2=(15x-35)" B @l x & A9 T

FIT 3R 98 § ~3 HT 919 7@ HiQ

m

& F
3&\
y
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23.

24.

A bus is going on a long journey starting at 4:00 hour. The speed of the
bus at different hours is given below :

Time (in hrs.) 4:00 6:00 8:00 10:00 | 12:00 | 14:00

Speed (in Km/hr) 30 50 60 45 80 70

Draw speed - time graph for the above data.
T 99 4:00 99 YNE Bl o A0 & fou s @ 21 9w # vfa fafa=
el o (s H) A= G E

(S H) 4:00 | 6:00 | 8:00 | 10:00 | 12:00 | 14:00
Tfa (fe. /=) 30 50 60 45 80 70
TR RU MU AFel & fou Mfa-g9a siera aAmRu|
The pulse rate (per minute) of 30 persons is recorded as
61 76 72 73 71 66 78 73 68 81
78 63 72 75 80 68 75 62 71 81
73 60 79 72 73 74 71 64 76 71

construct a frequency table using class intervals 60-65, 65-70 etc.
(i) What is the upper limit of third class interval?

(ii) What are the class marks of each class interval?

(iii) Which class interval has the highest frequency?

30 SfeREl w1 ATt Wi T i (fael ) aifera feren o € S o 3@ YR 2i-

61 76 72 73 71 66 78 73 68 81
78 63 72 75 80 68 75 62 71 81
73 60 79 72 73 74 71 64 76 71

T A 60-65, 65-70 TAME BT FAN ek AEERAT TR TET|
(i) R o ST H1 SSud diH = e ?

(ii) ek o ST=IUel 1 & foee o ©7

(il ) Tore &l el o1 SR Tad AR 872

OR ( 3@ )

A card is drawn at random from a pack of 52 cards. Find the probability
that the card drawn is :

(i) a black king (ii) ared card

(iii) neither a red card nor a queen. (iv) a heart

(v) other than an ace (vi) ajack
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25.

26.

27.

28.

29.

52 Tl 1 A9 HT TET H U Ueh IR ATl Tl Sl 1 Wifiehdl A shiferg
fop TehTen gam w1 © -

(i) Teh hIell SRIME (ii) Uk oA 9l
(iii )9 o el g & 3R 9 & T ' (iv) TH UE w1 g
(v) %% ¥ 3T &8 Tl (vi) Uk T T Ol

Section - 'D' (@s-‘T’)
Question number 25 to 34 carry 4 marks each.
T T 25 W 34 Th TAF W b 4 I T

Find the square root of 21/ correct to three places of decimal.
214 1 TS SIMAT % dF TIHl TF YE G RIS

A train 400 m long is running at a speed of 72 Km/hr. How much time
does it take to cross a 200m long bridge?

400 . oIl Tk YermEr 72 el wfq s @ Mia @ = WE1 Th 200 .
@d O I IR wH H I Toha 1 7T hM?
A garrison of 120 men has provision for 30 days. At the end of 5 days, 5

more men joined them. How many days can they sustain on the remaining
provision.

120 =aferaai w1 1 W1 & q@ 30 Al & faw disH | 15 A % e ),
5 SAfert @R wftafaa e sia &) o= g8 9l @ 9 frad & o R geRd €

The marked price of a double bed is ¥ 9,575. A shopkeeper allows a discount
of 12% on its marked price and still gains 10%. Find the cost price of the
double bed.

Tk Todcl o 1 Afhd Hod 2 9,575 €1 SHMRR gN 3ifthd Ted W 1206 1 B
T W F IH 10% T A Al T TIA o 1 HF oI TG HIT

Meera bought an A.C. for ¥ 22,000 including a VAT tax of 10%. Find the
price of the A.C. before VAT was added.

T A T IR 99 (A.C.) 10 Jf9E 1 T F /e et 722,000 |
Gl T U ged ° ¥ 2 Aed Jed A6 S|

OR ( 3194 )

Rohan bought some cricket balls at the rate of ¥ 250 for 4 balls and sold
them at the rate of ¥ 340 for 5 balls. Find his gain or loss percent.

AT 2250 A T 4 fopepe 15 @A & IR 2340 & W& ¥ 5 g 99 a1 2
IGhT A9 a1 B Gfawid =1 B2
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30.

31.

32.

33.

34.

Factorize : (7UHES HifSIQ)

2x? +5y° + 2z - 2J10xy — 24/Byz + 2+/2zx

If 5x2y=7 and xy = 2 then find the value of (5x+2y)>
e Bx-2y=7 AN xy =2 7 A (5x+2y)2 H TH €@ HIfoC

OR ( 3T9dT)

Factorize (PHEE HINT) : 22 -1 -2y - 12

Draw a line segment of length 6.4 cm and divide it in to 4 equal parts.
What is the length of each part?

TF 6.4 Q.. FT TWRdE Gifaw 3R 38 4 TR i1 § faaifeg e g am
HT AE @2
The electricity bills (in rupees) of 25 houses of a certain locality for a month

are given below :-

324 700 617 400 356 365 435 506 548 736 780 630 584
674 754 776 596 745 565 763 472 378 570 685 312

Prepare a frequency table taking class intervals 300-400, 400-500, etc.
Also draw a histogram.

T WEH & fau fod & & 25 = o1 fosien =1 foa (w9 |@) =
TR -

324 700 617 400 356 365 435 506 548 736 780 630 584
674 754 776 596 745 565 763 472 378 570 685 312

I A=A 300-400, 400-500 IS TR TRFIAT RN F3E| Teh 37 fost off
ERIE

A box contains 24 marbles of different colours. The following table shows
number of marbles of these different colours. Draw a pie chart for the data.

Colour of marbles

Red

Green

Yellow

Blue

No. of marbles

10

6

5

3

TF o T STeT-3T1 T & 24 Hieal g1 Frefafad groft 31 oferm-ofem O &

Hrefel i Al ©1 37 TRl & foq Tk o Tos SRy

qeicl & W1

odled

=l

fa)
qlcl

fa)
Alcdl

el i ST

10

6

5
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